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Bob: 2926(mod 17) =2
Alice: 29/M15(mod 17) = 10
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Bob: 10r6(mod 17) =9
Alice: 2A15(mod 17) =9
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8 Alice
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2. Alice combines her secret key (a)

with the parameters and sends the
resulting public key (A) to Bob

Public Channel

1. Alice and Bob agree
on public parameters

p=23,g=5
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3. Bob combines his secret key (b)
with the parameters and sends the
resulting public key (B) to Alice
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O.)A =5%*mod 23 =4

4. Alice combines (B)
with her secret key (a)

a s =10 mod 23 =18

6. Alice and Bob have a
shared secret!

With Diffie-Hellman key exchange, two parties arrive at a common

‘B=53mod23=10

5. Bob combines (A)
with his secret key (b)

°s=43mod23=18

ol

secret key, without passing the common secret key across the public

channel.



